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11 Co,
No. Co,
1 | 2.32  kgCo,/1
2 | 2.62  kgCo,/1
3 A | 2.71 kgCo,/1
4 | 2.85 kgCo0,/1
5 C | 2.99 kgCo0,/1
6 (LPG) kg 3.00 kgCO,/kg
7 | 2.46  kgCo,/1
8 | 2.49 kgCo,/1
9 Nm? 2.11  kgCO,/Nm?
10 ) kWh 0.378  kgCo,/kWh
11 ) kWh 0.602  kgCO,/kh
( verl.4)

http://www.env.go.jp/earth/ondanka/santeiho/guide/index.html
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A X
A1kg-COy/ <
A2kg-CO>/ <
a

Alkg-CO>/
B Y - ZZkg-CO2/

B3kg-CO2/
B2kg-CO2/ -
B3kg-CO2/ - ADx X 4 B2xY

ZZZ X + X
X+Y
13
A B c
1/ kWh/
0.0786 | 0.0712
0.0139 | 0.0135 | 0.0130
0.0126 0.0536
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15 Co,
No. Co,
1 kWh 0.378 kgC0,/kWh
2 ) kWh 0.602 kgCO,/kWh
3 1 2.32 kgCo,/1
4 1 2.62 kgCo,/1
5 A | 2.71 kgCo,/1
6 Nm3 2.11 kgCO,/Nm?

( verl.4)

http://www.env.go.jp/earth/ondanka/santeiho/guide/index.html
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( (M) )
500km | 1.1t/ 100 110t 11 500/5x 11 = 1,100l
500km | 1.0t/ 200 200t 20 500/5x 20 = 2,000l
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(Pad)

(R=Prc/ Pad) }

(Pad)

(Prc)

(Pe)

(Ptc)

(Prp)

(Ptp) (Pts) (Pte)
29
100
10 1kg/ 10 100t
90 10kg/ 9 1 10 1,000t
(Prc) 1,000t
(Pad) 100 + 1,000 = 1,100t
Prc Pad 1,000/ 1,100 = 90.9%
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900g

10 x 1000 900  11.1t

85
(11.1x 1 10) x (1 0.85)  0.165t

40
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) X
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31
1 100km
1 90km
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700
(100 90) 5x 700 1400(1)
CO:2 2.62kg-CO2/I
COz 1400x 2.62 3.668t-CO:2
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37
)
CO, SOx NOx CH, BOD COD
EPS
ELU
38 ()
[TJ] 1,275 3412 559
[ 1] 7
[ 1] 20
[ 1] 10
[ 1] 2
/__/ [ 1] 2,981 187
PVC [t] 0
\ v
- LI — —
A t
v \4
[t] 331
NOx [t] 35 4
SOx [t] 10 0
C0o2 [ 1] 73 148 23
CH4 [t] 968 335 35
BOD [t] 16 0
CoD [t] 18 0
[ELU] 1.45E+08| 4.71E+07 1.50E+08| 1.53E+08
[ 1 16,082 5,215 16,570 1,695
23.85% 7.74% 24.58% 2.52%
[ 1 69,567 4,193 462
[ 1 40 2,153 2,103
[ 1 509 92
[ 1 37 1
/

+
/
[V [ELU]
/

2003

0.25 0.04
0.24 0.04
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